In the two processes shown, gas is
compressed adiabatically in one
case and isothermally in the other.
We can say that

A) The solid line represents the
isothermal process

B) The solid line represents the
adiabatic process

C) We don’t have enough
information to tell which
process is which.

EXTRA: Can you give a conceptual explanation for your answer?
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In the two processes shown, gas is
compressed adiabatically in one
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We can say that

A) The solid line represents the
isothermal process

B) The solid line represents the
adiabatic process

C) We don’t have enough
information to tell which
process is which.

EXTRA: Can you give a conceptual explanation for your answer?



T So“auna( :

bw |

: AAiaLﬂhc

)
Q

DU

Ao se 1717

- Same “'.Mt vJuuC
- L;oL\evT
higher fil P
‘Fo( AcliaLu"’.'c
A‘ASWU 19
B

a—
-



Gas with C, = 3 R, initially at room temperature, is compressed
very rapidly in a cylinder. The compression ratio is 15.

a) Estimate the final temperature of the gas.

b) If the tube contains 0.0004 moles of gas, how much work
was required to compress the gas?



Gas with C,= 3 R, initially at room temperature and
atmospheric pressure, is compressed very rapidly in a cylinder.
The compression ratio is 15.

a) Estimate the final temperature of the gas.

b) If the tube contains 0.0004 moles of gas, how much work
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Gas with C,= 3 R, initially at room temperature and
atmospheric pressure, is compressed very rapidly in a cylinder.
The compression ratio is 15.

a) Estimate the final temperature of the gas.

b) If the tube contains 0.0004 moles of gas, how much work
was required to compress the gas?
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HEAT E NGINES: (Fw-‘;.l\y) Convert heat 4o
Wo\fk via cyc\'.c ?«ocess

By Gonfer - Own work, CC BY-SA 2.5,
https://commons.wikimedia.org/w/index.php?curid=10901965
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EFFiciency oF AN ENGINE

QH . "‘Qa'\' a\aSor\aac‘ by 6&; ea(_L CyC\e_

Qc: Heat expelled by gas

W = Net work done each cycl@_
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